x| Al 2T NER=] o| X7 & Ol EXtE=(7A=)  olE2AJAR(AA) A = LduEA e =l

o Chy et M=t ] P EPUE SRS S N 101 0 1,166 1,308 389 1,830,558
o= =3 SAEI | ZFEYT 7| ZM e A g EEERL 11 0 63 76 24 121,028
o S et Mt ] 7| ERAIA 8 0 298 14,156 4,212 19,897,135
o S et Mt ] ZI S| AT AR} 3 0 41 45 1 68,973
o= = SGFYEI | EFEWS G| 11 4 128 4,747 1,184 8,101,892
o S Rt Mt ] 0| AN 37 682 3,239 77,575 27,161 137,690,890
o S et Mt ] PSENEERS 6 0 56 59 19 92,366
= =2 SAEI =FEHT At A B 8 0 61 65 20 108,997
o= =3 s F=opt P RS =N 239 0 4176 26,680 17,931 31,132,640
o Cha sz =oEt FESUE RS S == S N 13 0 232 1,836 1,493 2,305,878
o Cha sz Fr=oEt ISR 2t AR} 497 0 6,061 32,222 18,519 39,597,898
o Cha sz F=oEt =AM 2 77 100/ 14,118 6,393 16,115,855
o= =3 s F=opat ol 8AIM 5 590 250/ 60,906 14,224 54,915,581
o= =3 HgrsaiZdF=ot PSEAE=ES 73 0 1,210 7,944 6,423 9,707,673
o = sz =oEt At A & 272 0 4,326 26,984 19,303 30,757,913
cH

cH

o M SEMTEESFEYT PAESUE- RIS PN 1 0 40 518 52 867,593
o M SEMTEESFEYT IS X &t AR} 151 0 11,296 192,229 30,876 463,314,296
o= A dMTEZSFEYT MEAIM 4 149 73/ 21,582 11,930 77,524,962
o= A dMTEZSFEYWT [SJE=2NES! 41 2,289/ 1,249/1,156,456 300,185 1,662,271,702
o= A dMTEZSFEYT PSEAE=E 1 0 42 493 49 820,242
o 7 =X SMTHEMEEYT MESSEERSE=IN 857 0 12,834 114,902 12,340 229,693,996
o 7 =X SMTHEMEEYT IESUE RS == SN 1 0 2 26 3 53,172
o= A EMFHEMEERT 7Bt 1 70 5 895 250 613,121
o 7 =R SMTHEMEEYS 7S X 2 ch AR 85 0 1,122 5,844 785 11,538,968




o7 M T HMFEMFEEYT o|28AlM 9 969 903 167,969 46,846 234,779,073
o EXbe SMTHMEENS HAEES 53 0 733 1,774 243 3,260,990
o= AT HdMFEMFEYT AR A B 45 0 721 6,116 618 12,363,974
o= Ebe SMTE=ORL I =Y EEE At 718 0 10,573 85,585 53,497 204,293,731
o= AT M FEEDEL HESE RS St = N 9 0 43 439 963 652,118
o Ebe SMTE=ORL IS X[ o) &Rt 77 0 647 4,537 6,965 7,913,335
o= Ebe SMTE=ORL el A 1 90 12 4,576 1,628 6,533,557
o= =k M TE=ORL ol 8AIA 16 431 855 113,931 20,527 160,840,775
o =k M TE=ORL SRR 15 0 100 1,172 1,155 1,757,451
o =k M TE=ORL AARIAE 345 0 8,372 43,287 27,279 129,792,396
o =k FRF=OE P RS =N 308 0/ 4,487 62,159 18,468 72,730,976
o= =k FRF=OE Izl e Era Rt 6 0 40 580 99 772,591
o =N FRFE=oE 7|EMAA 1 0 2 86 33 20,643
o =R SRFESoE IS X &t AR} 59 0 789 10,645 4,308 13,026,198
o =R SRFESoE MEAlAS 1 147 3 56 21 65,350
o= =k FRIE=OE Ol 8AIA 31 664 210 29,187 7,140 74,193,866
cH =R SEREF=OE PSENE=ES 11 0 159 2,103 500 2,635,681
cH =X SEREF=OE Rt A & 176 0 2,382 32,959 9,213 38,634,868
cH M

o 7 2T MESFEHT M EAlA 1 50 1 60 0 143,566
o 7 2 T MESFEHT o|2AlM 38 2,632 810 265,267 97,838 362,243,890
cH =

cH =

o 7 =Sy SMTEENT 7|ERAA 2 60 4 2,105 336 5,609,627
o= et SMETEEWS MEAIM 2 49 66 2,572 521 4,695,402
o 7 =Sy SMTEENT ol2AlM 36 589 1,570/ 62,053 16,113 119,156,472
o 7 =Sy




o S by Toop 7,926, 52,597 23,706 50,024,281
o S by Toop 2,711 16,124 7,721 16,940,026
o= 2N Toop 135 9,710 3,314 8,269,658
o= 2N FoopEt 412 2,976 1,316 2,716,230
o= 2N E FoopEt 1,418 9,602 4,228 9,390,658
o 2N

o=

o= STSEFEYS 12,877 35,523 0 129,719,586
= ST EPESEFCSYI 284 846 0 3,177,832
o =7 STEEFEYI 51 227 0 1,463,688
= ST STSEFEYS 2,809 7,829 0 28,791,534
= ST STSEFEY3S 74 4,108 0 7,010,623
= ST STSEFEY3S 353 973 0 3,526,122
= ST STSEFEY3S 5,008 14,062 0 52,273,599
cH ST HAFE=H 3 5,033 12,963 10,323 58,917,120
cH ST HUFE=w3 329 1,003 4,450 4,403,887
cH ST MHUT=u 2,135 5,611 5,050 25,272,640
cH ST MHUT=u 267 63,056 21,019 87,023,841
cH ST HUFE=w3 507 1,511 190 6,743,008
cH ST HUT=u 1,647 3,932 4,839 18,059,839
=7 =T L= E =] 24,946 87,044 32,443 140,974,089
o= ST yEzEew3 34 167 94 143,876
=7 =T L= E =] 722 69,731 12,807 116,565,223
o 7 =T L= E =] 3,206 11,502 4,528 17,929,693
=7 =T L= E =] 416 34,887 8,134 57,547,649
o7 =T L= E =] 232 61,052 15,416 63,759,986
o 7 =T L= E =] 551 1,742 577 2,968,449




25,971,987

o STFAELHEF S0 412 0 12,028 40,474 18,170 59,093,432
o STFAELHEF 20 8 0 241 695 288 1,081,202
o STFAELHEF 20 50 0 1,229 4,383 2,070 6,370,266
o STFAELHEF 20 27 501 598 18,009 12,533 24,906,309
o= STARH opl 25 0 569 2,066 1,210 2,877,128
o STAL op2t 117 0 3,982 13,025 5,848 19,127,710
o SPMAFEYT 225 0 1,966 10,009 0 36,488,484
o SPMAFEYT 1 0 1 4 0 9,600
o SFMAFEYHT 5 530 27 4,492 2,272 2,619,236
o SPMAFEYT 22 745 321 39,111 15,754 23,354,313
o= SFMAFCEYHT 1 0 12 50 0 190,204
o SPMAFEYT 7 0 50 254 0 1,009,976
A =ReaEswa LA o 1275 2377 s3s0 1802 G671sis
o =T =E¥E0 449 0 7,595 139,670 79,735 258,650,494
o =T =E¥E0 14 0 266 5,278 3,102 9,386,261
o= =7 ER=l 3 0 285 50,953 32,420 72,674,063
o =T =E¥E0 47 0 712/ 12,568 6,998 23,682,347
o 7 g7 EFE0 4 300 157/ 33,093 18,751 38,859,985
o 7 g7 EFE0 6 1,894 596/ 50,578 31,653 118,799,202
o= |+ SF=o 14 0 274 4,946 2,729 9,092,892
o 7 g7 Foopt 229 0 4,011 74,299 43,291 138,309,394
cH =

cH =

o 7 d=oteh F=oil 164 0 3,782 9,228 0 30,564,759
o= doted F=opd 18 0 715 1,527 0 5,243,981
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o7 s STFEEYWS 7|EfAIA 2 0 267 9,853 381 31,014,346
o T STFEWT IS X[ o) &Rt 82 0 4,745 12,661 0 42,211,927
o= s ESTFEYWT [EE=2NES 1 100 304 11,217 853 38,969,827
o= s ESTFEYWT 0| AN 14 1,833 3,463 199,623 25,740 460,201,707
o= s ESTFEYWT PSENEERS 152 0 7,590 20,206 0 67,777,878
o= s STFEYS AR A B 14 0 798 2,171 0 7,236,103
o= s dH=stE P FE =0 HESSERSES=N, 139 0 6,500 23,963 9,440 41,168,395
o Eny d=stE P FE =0 ISR 2t AR} 127 0 6,504 24,299 9,995 41,090,809
= Eny d=stE T FE =0 HNAEES 44 0 2,237 8,033 3,042 13,345,150
= Eny d=stE T FE =0 At A B 31 0 1,368 5,169 2,451 9,144,692

32,036 301,380 4,641,944 1,500,127 7,801,283,616



